N = 0l & At & Ml A

20219 & 204 DIEY TAIHEAE EXNEA AA
2M: E2
g TAMAHEEZ 4
tel: TAHECZ HE (01 SAHEANE EXNEE) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S22 2,500,000 32,000,000 A 29,500,000
< 600,000
Al 1,900,000
SANHEEZ ML 2,500,000 6,503,000 A 4,003,000
< 600,000
Al 1,900,000
SAAHEEZ HE(DIZEE SAHEANE SRNEL) 2,500,000 6,503,000 24,003,000
< 600,000
Al 1,900,000
SANHEEZ FRH 100,000 500,000 A400,000
401 AIEHI L 20 100,000 500,000 A 400,000
01 A& HI 100,000 500,000 A400,000
O ZANAHEEZ |RX =6 2 £
100,000,000& * 14 100,000
oYL (HR3-35H) TANHEETZ SHEIAY 1,995,500 5,000,000 A 3,004,500
= 600,000
Al 1,395,500
401 Al HIZ 201 8] 1,995,500 1,000,000 995,500
< 600,000
Al 1,395,500
01 A& HI 1,995,500 1,000,000 995,500
O 9g2(Uz3-38) TAHEEZ SHEFAY
1,995,500,000& * 14| 1,995,500
< 600,000
Al 1,395,500
CEME UE 3,000 3,000 0
305 et =S 3,000 3,000 0
(M PA=E = 3,000 3,000 0
O E2ANESUE 3,000,000& = 14 3,000
DIEa T AIAEAIE olidld] 1,500 0 1,500
801 GilBI8I 1,500 0 1,500
01 Btolldltl 1,500 0 1,500
O oldldl 1,500,000& * 14! 1,500
SAAHEERZ DIXN=EXN EX 24 100,000 0 100,000
401 AIEHI L 2CHEI 100,000 0 100,000
01 A& tl 100,000 0 100,000
O SANHEE=z 0IX=8X EXNEL
100,000,000 * 14 100,000
ZES(HAZY, S21-115) TAHEZZ W& A 100,000 0 100,000
H
401 Al HIZ 201 I 100,000 0 100,000
01 A& HI 100,000 0 100,000
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M- -S2(3AH) - MRAS - BH Off &t 24

O &S (g2, E21-113) TAAHEEZ
HEAS 100,000,000& * 14 100,000
Buel(f7us, 223-18) TAIHEZZ HEAY 200,000 0 200,000
401 AIEHIZ 2 I 200,000 0 200,000
01 A& HI 200,000 0 200,000

O #Wiuel(72us,Z223-18)TAMHEZZ N
A 200,000,000 = 14l 200,000






